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Answer Quastion No. Uwlich is compndsony and any Lwo from the rest.

(a) Answer the following:

(i)

(i1)

(iii)

(iv)

(v)

Scarcity definition was given by;
(A) L. Robbins

(B) Alfred Marshall

(C) LM, Keynes

(D) Adam Smith

Real Investment comprises of:
(A) Mauachine

(B) Shares

(C) Debenture

(D) Bond

Consumer’s surplus was propouw
(A) Alfred Marshall

(B) Pigou

(C) Malthus

(D) Robbins

Law of demand expluins:

(A) Quantitative relationship
(B) Qualitative relationship

(C) Functional relattonship

(D) None of the above

arvin et the righle side indicate fudl marks.
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Exception to the law of supply is:

(A) Agricultural product
(B) Scarce goods

(C) Labour market

(D) All the above
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(Vi) Economie costg comprise of;
(A} Explicit costs
(B Tmplicit coss
(C) Normal profit
(D) All the above

(vii) Hunmgcncuus product is the characteristic of:
(A) Perfect conpetition
(B) Monopoly market
(C) Monopolistic competition

(D) Oligopoly

(viii) Types of price discrimination are:
(A) Price discrimination of first degree
(B) Price discrimination of second degree
(C) Price discrimination of third degree

(D) All the above

(ix) Non-price competition exists in:
(A) Monopoly market
(B) OIigopoly

< Y Monopalistic compelition

(D) Disc‘riminaling monopoly

(b) Fill in the blanks:

(i) Net National Product = Gross National Product minug ———

i , National Income.
(1) Per Capita Income = -_—

(i) National Income data depictthe ———_ r Income among economic units.

(iv) Labour cannot be separated from ——
(v) Essay on the Principle of Population was written by ——
(vi) Formula for calculating optimum population is —

(vii) Visible items comprise of exports and —_—
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(viii) Comparative Cost Theary of International Trade was propounded by —
(ix) Balunce of paymens is. -— than Balince ol Trade.
(x) Moncy is a matter of functions four;
a medium, a measure, a standard and a
(x1) Quantitative Theory of Money was propounded by
(xii) Cash Balance Approach is based on the ——————— of money.

(c) State which of the following statement is “true” and which is ‘false’; [ %9

(1) There is continuous rise in price level and the value of money decreases during inflation.
(ii) Dear Money Policy is adopted during inflation.

(i11) There is glut of goods during deflation.

(iv) Central Bank creates credit.
(v) Cash Reserve Ratio is a limitation of eredit creation.

(vi) IFCI was set up in July 1948,

(vii) Unit Trust of India is an Investment Bank.

(viii) International Monetary Fund stabilises the foreign exchange rate.

(ix) Special Drawing Rights facilitate the international liquidity.

(d) Define the following terms in not more than two lines: 1%0
(i) Indirect Tax,
(1i) Proportional Tax,
(iii) Principle of Certainty,
(iv) Bank Rate,
(v) Marginal Cost,

(vi) Cash Reserve Ratio.
Define Central Bank. Discuss its various functions. 2+10

Write short notes on the following: 44444
(a) Characteristics of Perfect Competition;

(b) Consumption Function;

(c) Deficit Financing.

What is EXIM Bank? What are its functions? State the ‘three dimensional strategy’ developed by the EXIM Bank.
d+d+4
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Answer Question No. 5 which is compulsory and any two from the rest.

5. (a) Answer the following:

(1)

(ii)

(1i1)

(iv)

(v)

(vi)

Economic activities are those which are inspired by:
(A) Spiritual needs

(B) The desire to earn money

(C) Desire to help mankind

(D) All the above.

In a limited liability partnership:

(A) All partners have limited liability
(B) All partners have unlimited liability
(C) Some partners have limited liability

(D) Some partners have no liability at all.

Minimum number of members needed for a public company is:
(A) 9
(B) 7
©) 5
(D) 2

Which of the following is nor a social obligation for a firm:
(A) Avoiding anti-social practices

(B) Maintaining a healthy environment

(C) Ensuring job satisfaction of employees

(D) Eaming adequate profit.

Organised stock exchange in the country was started in Bombay in
(A) 1877
(B) 1939
(C) 1977
(D) 1907

Latest developments in communications media include:
(A) email

(B) SMS

(C) Video-conferencing

(D) All the above.



(5) CAT=-3(EBE)
(h) Fillin the hlanks: [0
(i) Acompany isan —— —— —— associalion,

(ii) The quorum at the annual general meeting in case of a private company is —

(iti) Government policies are an important part of —————— environment of a company.
(iv) No person can be a member of a stock exchange if he is less than ————— years of age.
(v) Written communication provides 8 ————— record for future reference.

(vi) The main motive of state enterprises is to render

(c) State which of the following statement is ‘True' and which is ‘False’: I x6
(i) The liability of a sole proprietor is always limited.
(ii) The Company Law has not given any legal status to a promoter.
(iii) The same environment may offer opportunities to some firms and threats to some other firms.
(iv) A stock market encourages capital formation.
(v) A stock exchange deals with the securities of all companies.
(vi) For communication to be effective. it must be communicator-oriented.
(d) Define the following terms i not more thun two lines: 1 %6
(i) Trade secrecy,
(i) Partner by estoppel,
(iii) A multinational company,
(iv) Certificate of commencement of business,
(v) Stock Exchange Clearing House,

(vi) Forward delivery contracts.

Write short notes on the following: 44
(a) Merits of Limited Liability Partnership;

(b) Shares and Debentures.

What is listing of securities? What are the steps involved in completing a transaction through stock exchange
broker? 2+6

What is communication? Explain Encoding, Decoding and Feedback as the elements in the process of communication.
2424242
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(31) T Ufaw
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(A) e ude F1-G
(%) usH foy
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(3) W
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(vi) sufela =i 0 whmfe 2.
(31) me wpd
(a1) =dlifaa =
(A7) [m= Eny
(&) 3P{m i
(vii) HHIT I8 a3 &
(1) qoi ufafira
(R&) " A
(W) vl ufanfmm
(%) srEwiemmRr

(viii) 77 faig & uan &
(1) W gl geu fads
(=) fasita it gea fade
(|) Tty 4ot geu fadg
(3) 39d=a weil

(ix) TR-Fag ufeersi 2 2.
(31) THiYER e §
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(i) wia =afe s = Mn
(iii) e o9 T g w0  afdw s e — |
(iv) M B — Q gorw 71 fommn 1w |
(v) *“Essay on the Principle of Population” ——— & gry fordt wit 2
(vi) ATFCTH TTHSN S A R — 3
(vii) I aEqIi # — s frafy wfinfem 3
(viii) m@qm%mmmmwmﬂm———%ﬁﬁmm:
(ix) YT & HIeH AR F Ve d —— g3
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(xi) W& w1 ufimm fagia & ufroes
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(W) Fr=tifesa 3§ | 29 8 w97 wd § o 3= e 3
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(vii) gfe g shw =€t (UTI) u fafram A%
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2. HFEE &% F wfonfa S 393 fafi= =l = saed)
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(i) 3nfeda fermm 3 Eran = waifaa 2idt 3.
(1) s savg®ar
(F) 47 FUH T 3=
(9) wra sufa ) werva 01 F =3
(2) 3= wift
(i) w Hifira aifae a@em 4.
(1) it wEerl & zifra difgg a9 2
(F) |l wEert F eifae ardifog @@ 2
(9) T2 9l & afye fiffm 27
(%) Fo ugrenl & 18 afra 7d da @
(iii) U gresttew Fet F =an geed 9 den g s
(31) 9
(") 7
(@ 5
(7) 2

(iv) Fr=vifeea & @ #7 w1 v vl = grfes afre 79 den .
(31) w9 & fazg Tl = A
(9) @y 9giEy &1 @148 wEA
(W) w=fl % wref wgfe = gefea Fo
(3) aiw Ty FHmm

(v) == | wnfaq @y faufon =1 yesma &
(31) 1877
() 1939
(9) 1977
() 1907

(vi) wEv Hifgan & adum yify § gfimfem #.
() 3-9@
() T@-tH-T=
(§) dife F=nfam
(3) Sugwa wdt
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(3) T vt /0 g i

(i) Fod) 1 A R
Gy Tt ame) 0t anfdes wsn g # momgfd ———— &)

(i) e &

. yferer  weEEd ifadt & agege dQnEE dad

(iv) T it =il o 2 ——— ad @ 0 ¥ =y fai g w2 @
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(vi) ArEafE drenstl # g I8y — |

(R) Fifea # @ =91 @ %97 9 € 3 9 ¥ Tew
(i) THel T AfaE wia wihE g
(i) et arfufTam o wads @ e danfe frafa 7@ < w2
(i) U & wafE o8 il F gerEw K w € ol T Wl # wawd g
(iv) Ty fagfon 4=h faio = e w5 R
(v) T faufor 4 it wmfat 6 ufayfodt = oeea g
(vi) wureE weEme F fen 38 weEes- i g =3ien )
(z) fre=ifwa w=i A siftasam €1 engAl § e Ffs;
(i) =marfew Mg,
(ii) TRAEIY BT IR,
(iii) T AGULTA FHOFT,
(iv) =TEag YT HE FH AH0]-95;
(v) =y faftra oehys TE;
(vi) T2 F IR

fa=ifaa W wfaw feopod fafaa:
(1) Hifga TfaE TR & 1,
(") 39T H|OIH|

wfavfirl @1 geiE = 87w fanfo & geme & mean 3 @2 w0 & T #n F29 3em w2

Furgur T 37 e ufEm % 9 & o 1§ e, saie i weds o g |
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